
CT6122 Instruction Manual



2
1

3.2mm

6mm



2

Assembly Drawing

3

[1] 
[10] 

[14] 

[12] 

[11] 

[15] 

[13] 

[2]  2x Fixed Panel Wall Jamp

[3]  6x Flat M4x35Screws 

[4]  6x Screws M4x8

[5]  2x Posts   

[6]  10x Screw Cover caps

[7]  8X Screws M4x25

[8]  1x Top Horizontal Rail

[9]     4x Top Rollers  
6x Wall JampPlugs 

2x Door Panels

6x Glass Block caps

8x Screws M4x14

6x Glass Blocks

3x Glass Tracks

1x Bottm Horizintal Rail

[10]

[11]

[8]

[12]

[15]

[13]

[14]

[9]

[2]

[3]

[4]

[5]

[6]

[7]

[1]



Installation Steps

Step 1

3

St p 2e

2

2

3

2

33

3

2

2

90

90

M4x35

M4x35



St p 3e

St p 4e

4

2 3

3

2

2

    INTERIOR
SHOWER SIDE 

    INTERIOR
SHOWER SIDE 

2



 5

St p 6e

St p 5e

1a

1a

1

M4X141


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

